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(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–II ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 35 gSaA 

 Please make sure that the printed pages in this question paper of Part-II are 8 in 

number and it contains 35 questions. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA 

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

General Instructions : 

    (i)    lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

        All questions are compulsory.    

SET : A 
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    (ii) iz'u Øekad 1 ls 35 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA funsZ'kkuqlkj bu iz'ukas ds 
mÙkj nhft,A 

        Questions from 1 to 35 are objective type questions. Each question is of 1 

mark. Answer of these questions may be given as per instructions. 

funsZ'funsZ'funsZ'funsZ'k %k %k %k %    fuEufyf[kr cgqfodYih; ç'uksa ds lghlghlghlgh fodYi pqfu, % 

     Select the correct option of the following multiple choice questions : 

1. fcc ;wfuV lsy esa fdrus VsVªkgsMªy okW;M gS % 1 

(A) 8  (B) 4 

(C) 6  (D) 12 

Number of tetrahedral voids in the fcc unit cell is : 

(A) 8  (B) 4 

(C) 6  (D) 12 

2. leijklkjh foy;uksa esa leku gksrk gS % 1 

(A) lkaærk  (B) ijklj.k nkc 

(C) i`"Bh; ruko (D) ';kurk 

Isotonic solutions are the solutions having same : 

(A) Concentration (B) Osmotic pressure 

(C) Surface tension (D) Viscosity 

3. CuCuMgMg |||| 22 ++  lsy vfHkfØ;k ds fy, % 1 

(A) dSFkksM ds :i esa Mg (B) dSFkksM ds :i esa Cu 

(C) Cu  ,d vkWDlhdj.k dkjd gS (D) mijksDr esa ls dksbZ ugha 

For the given cell reaction CuCuMgMg |||| 22 ++  : 

(A) Mg as cathode (B) Cu  as cathode 

(C) Cu is oxidizing agent (D) None of the above 
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4. fuEufyf[kr osx fLFkjkad ls vfHkfØ;k dksfV Kkr dhft, % 1 

114 Smol106.2 −−−
×= LK  

(A) çFke  (B) 'kwU; 

(C) f}rh;  (D) buesa ls dksbZ ugha 

Identify the order of reaction from given rate constant : 
114 Smol106.2 −−−

×= LK  

(A) First  (B) Zero 

(C) Second (D) None of these 

5. dksykbMksa dk dkSu-lk xq.k pktZ ij fuHkZj ughaughaughaugha djrk \ 1 

(A) dks,sX;wys'ku  

(B) bysDVªks-vkLeksfll 

(C) fV.My çHkko  

(D) buesa ls dksbZ ugha 

Which property of colloids is not dependent on charge on colloidal particles ? 

(A) Coagulation  

(B) Electro-osmosis 

(C) Tyndall effect  

(D) None of these 

6. fuEu esa ls dkSu-lk lcls çcy vEy gS \ 1 

(A) HClO (B) 3HClO  

(C) 2HClO  (D) 4HClO  

Which of the following is strongest acid ? 

(A) HClO (B) 3HClO  

(C) 2HClO  (D) 4HClO  
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7. fuEu esa ls dkSu-lk rÙo vi:irk ughaughaughaugha  n'kkZrk gS \ 1 

(A) ukbVªkstu (B) fcLeFk 

(C) ,fUVeuh (D) vklsZfud 

Which of the following element does not show allotropy ? 

(A) Nitrogen (B) Bismuth 

(C) Antimony (D) Arsenic 

8. dkSu-lk rÙo ifjorZuh; vkWDlhdj.k voLFkk,¡ ughaughaughaugha  fn[kkrk \ 1 

(A) Sc  (B) V 

(C) Fe  (D) Hg 

Which element does not show variable oxidation state ? 

(A) Sc  (B) V 

(C) Fe  (D) Hg 

9. fuEu vkWDlhdj.k voLFkkvksa esa ls ySUFksukW;M esa lcls lkekU; gS % 1 

(A) +4  (B) +3 

(C) +2  (D) +5 

Which of the following oxidation state is most common among the lanthanoids ? 

(A) +4  (B) +3 

(C) +2  (D) +5 

10. ;kSfxd ClCONHCo )]()([ 353  esa milgla;kstu D;k gksxh \ 1 

(A) 6  (B) 3 

(C) 4  (D) 2 

What is the co-ordination number in the ClCONHCo )]()([ 353  compound ? 

(A) 6  (B) 3 

(C) 4  (D) 2 
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11. ])([ 4COCoK  esa dksckYV dh vkWDlhdj.k la[;k gS % 1 

(A) +1  (B) −1 

(C) +3  (D) −3 

The oxidation number of Cobalt in ])([ 4COCoK is : 

(A) +1  (B) −1 

(C) +3  (D) −3 

12. ,d çkFkfed ,Ydkby gsykbM çkFkfedrk ls n'kkZrk gS % 1 

(A) 2
NS   (B) 1

NS  

(C) foyksiu (D) buesa ls dksbZ ugha 

A primary alkyl halide would prefer to undergo : 

(A) 2
NS   (B) 1

NS  

(C) Elimination (D) None of these 

13. bZFkj dk vkf.od lw= gS % 1 

(A) OHC nn 12 +
 (B) OHC nn 2  

(C) OHC nn 22 +
 (D) OHC nn 22 −

 

Molecular formula of ethers is : 

(A) OHC nn 12 +
 (B) OHC nn 2  

(C) OHC nn 22 +
 (D) OHC nn 22 −

 

14. fuEu esa çcy vEyh; dkSu-lk gS \ 1 

(A) OHCH3  (B) OHCHCH 23  

(C) CHOHCH 23 )(  (D) COHCH 33 )(  

Which is strongest acid in the following ? 

(A) OHCH3  (B) OHCHCH 23  

(C) CHOHCH 23 )(  (D) COHCH 33 )(  
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15. vk;MksQkWeZ VsLV ughaughaughaugha  nsrk gS % 1 

(A) ,FksukWy (B) ,FksuSy 

(C) 3-isUVsuksu  (D) 2-isUVsuksu 

Iodoform test is not given by : 

(A) Ethanol (B) Ethanal 

(C) 3-Pentanone (D) 2-Pentanone 

16. gkWQesu czksesekbM vi?kVu vfHkfØ;k cukrk gS % 1 

(A) 2CONHAr −  (B) 2NOAr −  

(C) 2NHAr −  (D) Ar − OH 

Hoffmann Bromamide degradation reaction form : 

(A) 2CONHAr −  (B) 2NOAr −  

(C) 2NHAr −  (D) Ar − OH 

17. fuEu esa ls dkSu-lk {kkjd RNA esa gS vkSj DNA esa ughaughaughaugha  \ 1 

(A) Fkk;ehu (B) lkbVkslhu 

(C) ;wjsfly (D) Xokuhu 

Which base is present in RNA but not in DNA ? 

(A) Thyamine (B) Cytosine 

(C) Uracil (D) Guanine 

18. jDr ds FkDds teus ds fy, dkSu-lk foVkfeu ftEesnkj gS \ 1 

(A) foVkfeu C (B) foVkfeu D 

(C) foVkfeu B1 (D) foVkfeu K 

The Vitamin responsible for the coagulation of blood is : 

(A) Vitamin C (B) Vitamin D 

(C) Vitamin B1 (D) Vitamin K 
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funsZ'k %funsZ'k %funsZ'k %funsZ'k %    fuEufyf[kr ç'uksa ds mÙkj ,d,d,d,d-nks nks nks nks 'kCnksa/okD;ksa esa nhft, % 

  Answer the following questions in one-two words/sentences : 

19. Ýsadsy nks"k D;k gS \ 1 

What is Frenkel defect ? 

20. rki c<+kus ij xSlksa dh æoksa esa foys;rk de D;ksa gks tkrh gS \ 1 

Why gases less soluble in liquids as temperature is raised ? 

21. çcy oS|qr~-vi?kV~; D;k gS \ 1 

What is strong electrolyte ? 

22. lfØ;.k ÅtkZ dks ifjHkkf"kr dhft,A 1 

Define activation energy. 

23. tc çdk'k fdj.k iqat dksykWbMh lkWy esa ls xeu djrk gS] rks D;k çs{k.k gksxk \ 1 

What is observed when a beam of light passed through a colloidal sol ? 

24. mHk;narh fyxUM D;k gS \ 1 

What are ambidentate ligands ? 

25. dkfcZy,sehu vfHkfØ;k D;k gS \ 1 

What is Carbylamine Reaction ? 

26. ySDVksl ds ty vi?kVu ls fdu mRiknksa ds cuus dh vis{kk djrs gSa \ 1 

What are the expected products of hydrolysis of lactose ? 
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funsZ'k %funsZ'k %funsZ'k %funsZ'k %    mi;qDr 'kCnksa ls fjDr LFkkuksa dh iwfrZ djsa % 

  Fill in the blanks by appropriate words : 

27. vk;fud Bksl ------------- voLFkk esa fo|qr~ pkyd gksrs gSaA 1 

Ionic solids conduct electricity in ………… state. 

28. vfHkfØ;k dk dqy osx vfHkfØ;k ds lcls ean in }kjk fu;af=r gksrk gS] ftls ------------- dgrs gSaA 1 

Rate of reaction controlled by slowest step called ………… . 

29. lkekU; :i ls laØe.k rÙoksa dk bysDVªkWfud foU;kl ------------- gSA 1 

The general electronic configuration of transition element is ………… . 

30. 443 ])([ SONHCu  ladqy ;kSfxd esa ------------- vk;u iSnk gksrs gSaA 1 

………… ions produced from complex compound 443 ])([ SONHCu . 

31. NaBrNaIBrCHCH +→+ ............23 . 1 

32. ..........
443

42
23

K

SOH
OHCHCH  →  1 

33. CHCHOCHCH =−3  ;kSfxd dk IUPAC uke ------------- gSA 1 

………… is the IUPAC name of the compound CHCHOCHCH =−3 . 

34. ])([ 3423 OCAlK  ladqy ;kSfxd dk IUPAC uke ------------- gSA 1 

………… is the IUPAC name of the complex compound ])([ 3423 OCAlK . 

35. foVkfeu ^lh* dh deh ls gksus okyk jksx ------------- gSA 1 

………… is the deficiency disease of Vitamn C. 

S 


